1. feladat | 2.feladat | 3.feladat | 4.feladat | 5.feladat | 6. feladat Bénusz Osszesen

8 pont 8 pont 4 pont 6 pont 6 pont 8 pont 40 pont Szazalék
BIG857 4 pont 7 pont 1 pont 6 pont 6 pont 6 pont - 30 pont 75%
BNISTZ 7 pont 7 pont 4 pont 6 pont 6 pont 8 pont - 38 pont 95%
CLRGCG - - - - - - - - -
C3TD8O 4 pont 6 pont 4 pont 6 pont 6 pont 6 pont - 32 pont 80%
E5TP1T 8 pont 7 pont 4 pont 6 pont 6 pont 8 pont - 39 pont 97,50%
FS5WSNW 8 pont 7 pont 4 pont 6 pont 6 pont 8 pont - 39 pont 97,50%
JD9BAD 8 pont 8 pont 4 pont 6 pont 6 pont 6 pont 5 pont 45 pont 112,50%
KISKW?7 3 pont 7 pont 4 pont 6 pont 6 pont 8 pont - 34 pont 85%
LALSIU 3 pont 7 pont 1 pont 6 pont 6 pont 6 pont - 29 pont 72,50%
PSNYEU 4 pont 7 pont 4 pont 6 pont 6 pont 6 pont - 33 pont 82,50%
S5VTSX 8 pont 8 pont 4 pont 6 pont 6 pont 8 pont - 40 pont 100%
TOO00DS 4 pont 7 pont 4 pont 6 pont 6 pont 6 pont - 33 pont 82,50%
UXB261 0 pont 2 pont 4 pont 3 pont 6 pont 8 pont -10% 19 pont 47,50%
VSF1B7 8 pont 0 pont 4 pont 6 pont 6 pont 8 pont -5% 30 pont 75%
XD3Y00 4 pont 6 pont 4 pont 6 pont 6 pont 6 pont - 32 pont 80%




